pp. 246-247 #4-7, 10-15, 19-22

4.

10.
11.
12.

13

As each input increases by 1, the
output increases by 6.

20; 26; 32

As each input increases by 1, the
output increases by 5.

| L 1L A

(0,4),(3,5),(6,6),(9,7)
(1,8), (3,8),(3,4), (5,6), (7, 2)
yes

yes

In order for a relation to be a
function, each input must be paired
with exactly one output. So, the
relation is not a function.

. Input  Output

As each input increases by 2, the
output increases by 2.



14.

15.

19.
20.
21.
22.

Input Output

As each input increases by 2, the output is 8.

Input Output

As each input increases by 3, the output
decreases by 10.

y-axis
X-axis
X-axis
A



pp. 253-255 #4-5, 8-12, 17-20, 24-25, 33, 39-41

y=4x
y=x+7
y=x+11

A

y=x-3
10. y=x"
11. y=6x
12. y=2x+1
17. 54

18. 3

19_ Ay
- 3.7)
. (2, 6)
b ] r{"lr 5}

¥ 1 2 3 4x

20. Ay £
3
4

(3, 6)
-3 (2.
B %1. )

|
2 3

)

e

o

1

24_ . .n}-" [ |
(3, 2.5)}
(2, 2)

(1, 1.5)
Yy 123 4x




25.

33.

39.
40.

41.

The order of the x- and y-coordinates
is reversed in each coordinate pair.

VA2, 5)

(0, 3)

(=2, 1)

v

a/1-2 |ol 1 2x
ANy | |

a. P=3.50b—- 84

b. independent variable: b;
dependent variable: P; The
profit depends on the number of
bracelets sold.

c. 24 bracelets



p- 143 #3-5, p. 146 #3-4

3) When it looks like y=mx+b. The graph is a line. (Multiple answers at this point)

4) a) Yes; No b) Choose a lower minimum y-value
5) Graphing calculator (various answers at this point)




pp. 146-147 #7-9, 11, 17, 19, 28-32

7. 4y
- ﬁ-m' 2 =
AEAW
Y =3
2
1

X = 6T
2
(=6, 0) 1
e -
E=—4-=-3-=2 ] x
=2
-3
Y Y
9. [ by
=
32 1] ]. 23 x
- o —
y=x—3]
lﬂ
B
11. I
- 3x* 4
VR
\ 1
T
"'-q.'.-..
3 \t
2
|
- £ o
3-2-1y 1 32 3%

17. The equation x = 4 is graphed, not y = 4.
Ay |
|0,

-
T10=9

- -
32 1§12 3x

-
oF




19.

28.
29,
30.

31.
32.

10

b.

C.

about $5
$5.25



p. 149 #4, p. 153 #4-6

4) (Various Answers)

4.

The lines are parallel.

LYIEY
1

1\2 3

\

\ |

\

The lines are parallel.

I Ly

'%..--""'"#
™

« T
— e

L )

The lines are parallel.



pp. 153-155 #9-14, 16, 19, 22-23, 37-40

4) (Various Answers)

0. 3

5

10. é
11. 0
12. undefined

13. 0

14. undefined

16. 2

19. The denominator should be 2 — 4.

m=—1

22,

23. —

37. b=25
38. n=56

39, x=7.5
40. B



pp.162-163 #3-9, 15-17
I (17 exercises.)

Display Cols
3. no; Sample answer: The graph of the
equation does not pass through the
origin.

4. vyes;y = 4x; Sample answer: The
graph is a line through the origin.

5. yes; y= %x; Sample answer:

The rate of change in the table is
constant.

6. no; Sample answer: The rate of
change in the table is not constant.

7. vk
45
40
35
30
25
20
15
10

5

0

Amount raised (dollars)

0123 45¢6 78 9x
Tickets

Each ticket costs $5.

8. a. y=9x
b. It costs $9 per hour to rent a kayak.
C. $45



. a. the car; Sample answer: The
equation for the car is y = 25x.
Because 25 is greater than 18, the
car gets better gas mileage.

15.

16.

17.

b. 56 miles

y=3x—%

40 N A

..................




p. 265 (#1-8), p. 146 #10, 14-15, pp. 153-154 #7-8,

15, 17, 21, 24, p. 165 #12-13
1. (10, 0), (20, 0), (30, 10), (40, 5); yes

2. {U! _5]: {O! _4]1 (11 _4]:
(2, —3), (3, —2); no

—30
—16

o wm oW
_‘_\_]




10. y=-x-1

14. A

0

8{(0, 6.75)
- R S ——

1

2

{o=679)

g L
=531 ¥ I 2 3%

15. Ay
X = —('.i.5]

|
o
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e
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15. undefined

1
6

21. 4

17.

24, !
6

Answer Presentation Tool
Book
Chapter



12. v /

= It B oW DR TN =)
S,

i

1 2 3 4x

You take 3 hours of cello lessons per
week.

13. a. y=7.50x

b. The slope indicates that the unit
cost 1s $7.50 per guest.

c. $75
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p- 167 #3-4, p. 170 #4-6
3. A line with slope m that crosses the y-axis at (0, b).

a. It affects the steepness of the line and whether it
rises or falls from left to right.

b. It affects where the graph crosses the y-axis.
c. Works for any equation.

4. Because m 1s the slope and b is the y-intercept.

4. B;slope: 2; y-intercept: 1

5. A;slope: ;: y-intercept: —2

. 2 .
6. C;slope: 5 y-intercept: 1



pp. 170-171 #7, 13-14, 16-18, 22, 27-31

7.
13.

14.

16.

17.

18.

slope: 4; y-intercept: —5

slope: —2; y-intercept: 3.5

slope: —;: y-intercept: —5

The y-intercept should be —3.

y=4x-—3
The slope is 4 and the y-intercept is
—3.
a. 7 Y P I
= 00Ny = —10x + BG{}U]‘
@ 2500 T
% 2000 y
.-E_. 1500
@ 1000
T 500 \
0]

[
.-
X

0 100 200 300
Time (seconds)

. The x-intercept of 300 means the skydiver

lands on the ground after 300 seconds. The
slope of —10 means that the skydiver falls to
the ground at a rate of 10 feet per second.

J_.l

AN

y=1§x + 3

;( o 1] 3 10 15 x

|1r

x-intercept: —15



27.
28.

29.

30.

31.

AV

=Y

y=2x+3
y=§x—2
y=—§}x+2




p.173 #3-6, p. 176 #3-4

3. Sample answer: 1t is a line with a slope of _Ta and
: c
y-intercept of .

4. Activity 1 uses a table. Activity 2 uses the
slope-intercept form. Sample answer: The
slope-intercept form may be considered easier
because you can use the slope and y-intercept
to graph the equation.

5. Sample answer: You sold $20 worth of lemonade.
You sell large cups for $4 and small cups for $2.

6. When the equation is in standard form, you can
see that when x = 0, y = 10, and when y = 0,

x = 10. You can graph the equation through its
x-intercept and its y-intercept.

3. x = pounds of peaches
y = pounds of apples
4
r=—=—x + 10
) 3

Y




4. x = hours biked
y = hours walked
y=—8x+ 16




pp. 176-177 #5-9, 11-14,16-17, 20, 24-26
5. y=-2x+17

1
6. y=5x—
y=29 4
1
7. y= 2x+ 10
8. [—13xﬁ9y=:r'2]
\WEE
101
\' 74
3
4
: 1y 1 g:}
9 [16x—4y—2]

11. B
12. A
13. C
14. They should have let y = 0, not x = 0.
—2x + 3y =12
—2x + 3(0) =12
—2x =12
x=-—6



16.

17.

20.
24,

25.

26.

(4, 0)
i ——
“lyl 23 N3~x

—Xo.9
i

TN +y=8

/

= kLS w3

See Taking Math Deeper.
4

L
2
D



p. 179 #4-5, p. 182-183 #3-7, 11, 15-17, 24

4. Let the slope be m and the y-intercept be b. Then
the equation of the line is y = mx + b.

Sample answer: What is the equation of a line with

a slope of % and y-intercept of 1?

—2x+1
¥ = 5

5. Sample answer: y = 2x + Sand y = —x + 7.
3. y=3x+ 2

y=3x— 10;

Y= 5;

y=—1
4.y=§x+&

y=3;

3
= —=x+ 6;
y 21: 6;

2. y=x+4

7. =lx+1
4



11.

15.
16.
17.

The x-intercept was used instead of
the y-intercept.

1
=—-x—2
y 2
y= -2
y=07x+ 10
a-b. N
70
= 60 (0, 60)
£ 50
5 40
3 30
& 20
10 I:'El. 22

001231155?.1:

Braking time (seconds)

(0, 60) represents the speed of the automobile
before braking. (6, 0) represents the amount
of time it takes to stop. The line represents
the speed y of the automobile after x seconds
of braking.

c¢. y=—10x+ 60

24. C



p- 185 #4-6, p. 188 #3-5

4. The results are the same. The formula from
Activity 2 can be used to write the equations
in slope-intercept form.

5. It is the formula that can be used to write the
equation of a line given a “point” on the line and
the “slope” of the line. The “slope™ and the
coordinates of the “point™ are substituted into the
formula to get the equation. It is important because
it allows you to write the equation of a line given a
point and a slope.

6. Use the point-slope form of the equation of a line,
y — » = m(x — x;).Substitute the slope form and

the point for (x;, y;).

Sample answer: Write an equation of the line that
passes through the point (2, —1) with slope —2.

m(x — x;)

Y — W

y = (=1) = =2(x - 2)

y+1:—2(x—2)
y+1=-2x+4
y =-2x+3

So, the equation is y = —2x + 3.



3.y—0=;x+m

4.y—3=—?x+@

5. y+1=-3x-3)



pp.188-189 #6-8, 12-14, 23, 25-27
6. y— 0= —g[x—fi)

7. y—BZf;[x—ﬂl]

8 y+3=4x-1)
12. y=3x+2

13. y=2x

14. y=x+5

23. a. y= 14x — 108.5

b. 4 meters
25. N A

26. ERIE

A

o
)
%]
w Y

27. D









pp. 261-263 #5-11, 13, 20-23

5.

10.

11.

13.

W e N o

y=:x+2
y=-—4x-—2
=1
y=2x
y::_lx

4
y=§x+5

a. independent variable: x;
dependent variable: y

b. y= 3x; Itcosts $3 to rent one
movie.

C. - =T
© 12
S 9
=
T 6
g 3
L 0 —
0 1 2 3 4 5x
Number of
movies
d. $9

a. y=-02x+1

b. The slope indicates that the
power decreases by 20% per
hour. The x-intercept indicates
that the battery lasts 5 hours.
The y-intercept indicates that the
battery power is at 100% when you
turn on the laptop.

¢. 1.25 hours



20. b= -2.6
21. w=1.5

22. y= 2270

23. C



pp. 270-271 #5-10, 12-13, 16, 19-21

. VA
- 20 L
15 -
10 ’
g L ]
DCI 2 4 6 E:;'
nonlinear
6. 1Y
— G —%
3
~f  J =
2 (} 1 2 x
| I — S S E———
*y
linear

7. linear; The graph is a line.

8. nonlinear; The graph is not
a line.

9. linear; As x increases by 6,
y increases by 4.

10. nonlinear; As x increases by 2, y
changes by different amounts.

12. linear; You can rewrite the equation
in slope-intercept form.

13. linear; You can rewrite the equation
in slope-intercept form.

16. See Taking Math Deeper.
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19.

enlargement
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pp. 276-277 #7, 11-18, 23

7. The volume of the balloon increases

11.

12.

13.

14.

15.

at a constant rate, then stays
constant, then increases at a constant
rate, then stays constant, and then
increases at a

constant rate.

The hair length increases at a
constant rate, then decreases
instantly, then increases at a constant
rate, then decreases instantly, and
then increases at a constant rate.

The loan balance remains constant,
then decreases instantly, then
remains constant, then decreases
instantly, and then remains constant.

a. The usage decreases at an
Increasing rate.

b. The usage decreases at a
decreasing rate.

a. They both improved (increased
scores) throughout the season.

b. Mark; Mike

Car

Value

¥

Time
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pp. 279-281 #1-15

no

yes

o w B wN S
|
d

10. y= -7

11. linear; As x increases by 3,
yincreases by 9.

12. nonlinear; As x increases by 2, y
changes by different amounts.



13. a. The sales of Company A increase at a constant

14.

Elevation

rate, then decrease at a constant rate, then
increase at a constant rate. The sales of
Company B increase then decrease, then
increase and decrease again. None of the rates
of increase or decrease are constant.

. Overall, the sales of Company A increased

over the time period. The sales of Company
B appear to be the same at the beginning and
end of the time period.

The sales of Company A increased and
decreased at a constant rate over the time
period. The sales of Company B did not
increase or decrease at a constant rate.

Both graphs are nonlinear. The graph for
Company A consists of three linear sections.
The graph for Company B has no linear
sections.

Climbing

Y

Time



Stock

15.

F 3

2014

Time



pp- 191-195 #1-27 Odd
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10.

A Ay

1
L
2

no; yes; The line x = 2 is vertical. The
line y = 4 is horizontal. A vertical line
is perpendicular to a horizontal line.

Yi
36

32
28
24
20
16

12
V.
,|/0.8)

D/m’m =
01 2 3 45 6x

Time (weeks)

Distance (miles)

You run 8 miles per week.



11.

12.

13.

v K

S

£ /
/

g‘?

S 6

ER

= 4

2 4 /

g 3 /

., ;(2‘3}

ﬂ.l']}

N 74 () S

=
iy
(%]
W
N
un
o
b

Time (days)

You study 1.5 hours per day.
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Y
Xx-intercept: 3
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x-intercept: 2



14.

15.

16.

17.

Ay

]
—g-4§ —b—ﬁ—d—d—z—l] X

|2
I
:—4
5
}’=—X—3]_ l_f*_

x-intercept: —8
%x t+y=3
Y/
_2..
- N
X
-
Yy 3639
(—4x + 2y = 8]
\Y_w
\of
2
|
-3 =
312 3
F.oly
Ay
~
=5
~4
-3 [x+ Sy = ﬂ}
-1
— X
~ — =
Y 2 16 Blﬁhig




18.

19.

20.
21.

22.
23.
24,
25.
26.

27.

2 +§F=4]

W

/s

}(2

!1
:1# Y e
£ 3§k
- .
2 M
E%znj
o I
8
'nu-1|:|' 1
=N

0

012345 6x
Number of nights

The x-intercept shows that you can
board your dog for

6 nights when there are no hours of
playtime. The y-intercept shows that
you can have 30 hours of playtime for
your dog when you do not leave your
dog at the kennel for any nights.

y=x-—2
y=—%x+4
y=-2x+1
y=2x—-3
y=28
y=-95
y—4=3x-—4)
}’:_lx

2



